7.1-7.5 Mixed Practice
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Ifjx cosxdx = h(x Iszmxdx then (x)=

(A) 2sinx +2xcosx+C (B) x?
(D) 4cosx—2xsinx+C
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sinx+C sinx+C

(E) (2—x2)cosx—4sinx+C

(C) 2xcosx—x
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Ixsin(Sx)dx=

(A) —xcos(5x)+sin(5x)+C

(D) gcos(Sx) + %sin(Sx) +C

(B) —gcos (5x)+ %sin(Sx) +C

©) —%cos(Sx) + ésin(Sx) +C

(E) 5xcos(5x)—sin(5x)+C
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I#dx:
x“+3x+2
(A) In|x+2[+In|x+1|+C

(D) 4lnfx+2|-2l[x+1[+C (E) 21n|x|+§x+%x2+C

(B) In|x+2[+In|x+1]-3x+C

(C) —4In|x+2|+2In|x+1|+C

3. 32.
The table below gives values of f,f’, g, and g’ for
selected values of x. f(4x + 7)5 dx =
2(4x + 7)° 4x + 7)°
e (@x + 7 (@x + 7y
4x + 7 3(4x + 7
Wl -2 1 - +
f'(x) (®) 4 C 5 C
glx) | —1 3
g | 1 -3
If sz'(x)g(x) dx = 3, then flzf(x)g’(x) dx =
(A) —09. (B) —4.
©) 3. (D) 6.
33. 34.
f (sin x)e2Teosx dy = J (sec?x)3/3 + tan x dx =

(A) _€2+COSX + C
(B) e2+eosx 4 C

(C) (cos x)e?*cosx + C
(D) e~$% + C

3
(A) 5(3 + tanx)?3 + C

3
(B) Z(? + tanx)*3 + C

(@) %(3 + tan x)*3 + C

(D) %(3 + tanx)*3 + C
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xarctanSx — iln(l + 25x2) +C
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—lln|0055x|+C
5

4X
In4

%(\/sin 4x —(sin 4x)5/2 ) +C
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. 2arctan(x;4)+C

. x—6ln|x+1|+C



